TeleEye

GXServer Rack Mounting Kit

Quick Installation Guide

(19” Server Rack Use Only)
Package Contents

Mounting Racks
2 pcs

M6 Screws
12 pcs

M6 Cage Nuts
4 pcs

Quick Installation Guide
1 pcs




O

TeleEye

M CERTIE
S X

7'
‘30

o

QUALITY
MANAGEMENT
005

Step 1
Install mounting racks on each side of GX casing by tightening 4 pcs M6
screws. As shown:

(1.75
(1)

—
44.45mm 88mmM

(~2u)

Tips
The 4 standoffs at the bottom of GX casing can be removed by loosening
screws in order to fit limited space 2U in 19” server rack.




TeleEye

Step 2
Install 2 pcs M6 cage nuts on each arm of 19” server rack with 1U spacing
separation. (1U = 1.75” = 44.45mm). As shown:

L7 [T17 17 LT47 17 707 17 LT07 [

RN

il
100000 oofddgooedofoonboonotr
]

Lo

JOOodoofoobhide oo idood

ey
———————mm
N,



o

QUALITY
MANAGEMENT
005

TeleEye

Step 3:
Install the step 1 finished product to 19” server rack by tightening 4 pcs M6
screws to M6 cage nut each. As shown:

\ﬁﬁﬂﬁﬁﬁﬁﬁﬁﬁﬁﬁ
\
\
%
\

ﬁﬁﬁﬁﬁﬁﬁﬁﬁEﬁﬁﬁﬁ@ﬁﬁ(ﬁ;ﬁﬁﬁﬁﬁﬁﬁﬁﬁﬁﬁﬁ

Installation Complete



